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60/60/60 - 54x

BLOCO SOBRE UMA ESTACA

130/60/60 - 24x

BLOCO SOBRE DUAS ESTACAS

140/121/60 - 02x
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COMPRIMENTO

TOTALUNIT

POS BIT QUANT

(cm) (cm)

(mm)

AÇO

B.500;B.501;B.502 - 60/60/60 - 03x

     50A   1    10   15    216    3240

     50A   2    10   15    220    3300

     50A   3    10   15    232    3480

COMPR PESO

(mm) (m) (kg)

BIT

RESUMO AÇO CA  50-60

AÇO

     100      63   10     50A

Peso Total        50A =      63 kg

B.500;B.501;B.502 - 60/60/60 - 03x

BLOCO SOBRE UMA ESTACA

MÓDULO DE DEFORMAÇÃO ESTÁTICO

fck de

Consumo

Cimento

Água/Cimento

Relação

A/C

Ecs

30 MPa 400 kg 0,55 26 GPa

CONCRETO: fck=30MPa

COMPRIMENTO

TOTALUNIT

POS BIT QUANT

(cm) (cm)

(mm)

AÇO

BLOCO - 60/60/60 - 54x

     50A   1    10  270    216   58320

     50A   2    10  270    220   59400

     50A   3    10  270    232   62640

BLOCO - 130/60/60 - 24x

     50A   1    20  120    202   24240

     50A   2     8  264    212   55968

     50A   3     8  120    368   44160

     50A   4    10  120    143   17160

BLOCO - 140/121/60 - 02x

     50A   1    25   18    191    3438

     50A   2    10   40 --VAR-    7560

     50A   3    10   44 --VAR-    7392

     50A   4    10   10    397    3970

COMPR PESO

(mm) (m) (kg)

BIT

RESUMO AÇO CA  50-60

AÇO

    1001     401    8     50A

    2164    1364   10     50A

     242     606   20     50A

      34     138   25     50A

Peso Total        50A =    2508 kg


